o e
% é EES , bx % OtpuniatensHbie APOOHBIE TTOKA3ATEH

Nwms: Jara: Onenka:
LN 1o _
() () =
3 2 _ 1 —-1) _
(g) = (g)( D=
3 2 _ _1 _
(Z) = ( g)—
(é)(—l) — (%)(—1) —
1 2 _ 1 _
(5) = (5) =
SN BN
(7) ()=
(%)(—3) _ (%)(—2) —
1o _ LN
(3) ("
3 LN
5 ()=

3 3

(_Z)( D= (g)o =

www.snowmath.com


https://www.snowmath.com

OtpuuarensHble JPOOHbIE MOKA3aTENN

Nwms:

by

3, 9

(g) =5

3, 9

(Z) =16
(9" =6

1, 1

(5) =1

3ven_4_ .1
(4) 3 13
(3 =27

1, 1

(5) =9

3 3

(_Z) :(_Z)

Hara: _ Onenka:

www.snowmath.com



https://www.snowmath.com

